CITY OF SAN ANTONIO PURCHASING & GENERAL SERVICES DEPARTMENT CITY COUNCIL AGENDA MEMORANDUM VIII

TO:

Mayor and City Council

FROM:

Janie B. Cantu, Director of Purchasing & General Services

SUBJECT:

Annual Contracts for Fiscal Year 2004-2005

DATE:

March 24, 2005

SUMMARY & RECOMMENDATION

The attached tabulations of bids is hereby submitted for council consideration and action. Annually at this time, bids are requested for various materials, parts and services. This ordinance includes contracts for spoken word compact discs and audiocassettes, computer service maintenance, recreational board & table games, Veritas software licenses and support, high intensity prismatic sign sheeting, recreational sports equipment, arts and crafts, plastic bags.

Many bids are on a firm, non-escalating basis, while others such as petroleum related items and certain other commodities require escalation of prices during the contract period. Generally, bids reflect small increases over recent prior years, but in many cases reflect decreases.

It is recommended these contracts be approved.

SECTION I:

The bids in this section are single source of supply contracts. (1 contract)

SECTION II:

The bids in this section are low responsive bids in which award is recommended to the

lowest bidder. (6 contracts)

SECTION III

The bids in this section are low responsive bids in which award is recommended to

bidders other than the lowest bidders because the lowest bids failed to meet City's

specifications. (11 contracts)

POLICY ANALYSIS

Annual contracts are an efficient method of securing the best prices through volume purchasing and by reducing large amounts of work related to the bid process. This group of contracts represents a portion of approximately 250 annual contracts that will be brought before City Council throughout the remainder of the fiscal year.

Page 2 – Memo to Council Annual Contracts

FINANCIAL IMPACT

Funds are not expended by this ordinance. All expenditures will be in accordance with the FY 2004-2005 budget approved by City Council. The combined total estimated amount for contracts listed on this ordinance is approximately \$858,340.

Janie Cantu, C.P.M., Director Purchasing & General Services

Erik J. Walsh

Assistant to the City Manager

SECTION I COUNCIL, MARCH 24, 2005 SINGLE SOURCE BIDS

SECTION I: SINGLE SOURCE BIDS

The bids in this section are single source of supply contracts.

COMMODITY

MBE

VENDOR

1. Spoken Word Compact Discs & Audiocassettes
A972-05

Books on Tape Entire Bid

Upon Award through 9-30-05

Est Amount \$45,000 annually

This contract will provide the City of San Antonio Public Library and library branches with abridged and unabridged spoken word compact discs and audiocassettes to be used by library patrons for recreational listening and reading.

CITY OF SAN ANTONIO BID TABULATION

ANNUAL CONTRACT FOR: SPOKEN WORD COMPACT DISCS & AUDIOCASSETTES

MLWN Books On Tape A Division of Random House, Inc. PO Box 25122 Santa Ana, CA 92799-5122

DESCRIPTION

ESTIMATED ANNUAL COST

SPOKEN WORD COMPACT DISCS & AUDIOCASSETTES

\$45,000.00

(Contract Period upon award thru September 30, 2005)

TERMS

Net 30

AW/arw A972-05

SECTION II COUNCIL, MARCH 24, 2005 LOW BIDS

SECTION II: LOW BIDS

The bids in this section are low responsive bids in which award is recommended to the lowest bidder.

COMMODITY

 Computer Server Maintenance A736-05 Upon Award through 12-23-05 With three one-year options to extend

This contract will provide the City of San Antonio Information Technology Services Department with extended warranties for Dell Servers. The warranties provide 7x24 services for servers located at various City locations.

 Recreational Board and Table Games A795-05
 Upon Award through 9-30-05

This contract will provide the City of San Antonio Parks & Recreation Department with recreational board and table games that will be used by the children's Afterschool Challenge Program and Summer Recreation Program.

 Veritas Software Licenses and Support A925b-05 Upon Award through 10-31-06

> This contract will provide the City of San Antonio Information Technology Services Department with computer data backup software licenses, support and related services.

MBE VENDOR

Dell Marketing, LP Utilizing the Texas DIR "GoDirect" Program, Contract No. DIR-SDD-192 Entire Bid Est Amount \$140,439 annually

MBE Learning Zone

Items 1-5, 7, 10-11, 13-23, 25-27, 30-36, 39-42 Est Amount \$58,256 annually

S & G Contracting, Inc. Items 9, 12, 37, 38 Est Amount \$11,945 annually

S & S Worldwide Items 6, 24, 28, 29 Est Amount \$1,524 annually

Veritas Software
Utlizing the State of Texas "GoDirect"
Program, Contract No.
DIR-VPC-03-012
Entire Bid
Est Amount \$272,785 annually

SECTION II COUNCIL, MARCH 24, 2005 LOW BIDS

SECTION II: LOW BIDS

The bids in this section are low responsive bids in which award is recommended to the lowest bidder.

COMMODITY

 4. High Intensity Prismatic Sign Sheeting A1020-05
 Upon Award through 3-31-06
 With two one-year options to extend

This contract will provide the City of San Antonio Public Works Traffic Division with high intensity prismatic sign sheeting that will be used to enhance nighttime visibility of traffic control signs and objects throughout the City.

MBE

VENDOR

3M Company Entire Bid Est Amount \$166,950 annually

CITY OF SAN ANTONIO BID TABULATION

ANNUAL CONTRACT FOR: COMPUTER SERVER MAINTENANCE

MLWN
DELL MARKETING, LP
One Dell Way
Box 8707
Round Rock, Tx 78682

DESCRIPTION

SERVER EXTENDED WARRANTY MAINTENANCE AS PER DIR CONTRACT

Model	Est Qty
Power Edge 1500SC	1
Power Edge 1550	1
Power Edge 1600SC	1
Power Edge 2500	1
Power Edge 2550	21
Power Edge 2600	1
Power Edge 2650	158
Power Edge 4600	4
Power Edge 500SC	1
Power Edge 6650	4

ESTIMATED ANNUAL PRICE TOTAL

\$140,439.22

(DIR Contract No. DIR-SDD-192)

(Contract Period Upon Award through December 23, 2005 with 3-1 year options to extend as per DIR contract)

TERMS

Net 30

LB/clb

A736-05

Opened:	January 4, 2005	Learning Zone	S&G Contracting, Inc.	S&S Worldwide	BSN Sports	Collegiate Pacific	Kaplan Early Learning Co.	US Toy Co., Inc. dba Constructive Playthings
For:	Annual Contract for Recreational Board & Table Games	10531 Gulfdale	8863 Anderson Mill Rd., Ste. 108	75 Mill St.	PO Box 7726	13950 Senlac #100	PO Box 609	13201 Arrington Road
A795-05	AW/arw	San Antonio, TX 78216	Austin, TX 78729	Colchester, CT 06415	Dallas, TX 75209	Dallas, TX 75234	Lewisville, NC 27023	Grandview, MO 64030
Item	Description							
1	140 Each-Candy Land		ļ	İ				[
	Price Each	\$5.99				\$7.60		
	Total Price	\$838.60				\$1,064.00		
ļ	Brand	Milton Bradley	Milton Bradley					
]	Model	4700	4700	GA4700	BS-4019XXXX	GM4700	8507	MB 4700
2	140 Each-Chutes & Ladders	1				• • • • •		No Bid
	Price Each	\$4.86 \$680.40						
l	Total Price Brand	Mitlon Bradley	Milton Bradley					
	Model	4555	4555			GM4555		
3	140 Each-Pick Up Sticks		1			4	}	
	Price Each	\$0.73	\$2.75	\$0.86	No Bid	No Bid	No Bid	No Bid
[Total Price	\$102.20			1			
	Brand	Pressmar	41	4			j]
	Model	1515	1515	W2631				
4	483 Each-Uno Cards							
-	Price Each	\$3.65	\$8.34	\$3.82	\$4.64	\$6.45	\$6.75	No Bid
	Total Price	\$1,762.95						
	Brand	Matte	Mattel	Matte	Matte			
	Model	41001	41001	W2040	BS-4036XXXX	GM1001	92865	i l
5	40 Each-Gesstures		}		1	}	ļ	
	Price Each	\$22.99	\$31,19	\$23.99	No Bid	No Bio	No Bio	No Bid
	Total Price	\$919.60				ĺ		l
	Brand	Milton Bradley						
· ·	Model	4113	4113	BD1203	3		ļ	
6	200 Each-Mancala				1			
[Price Each	\$5.64					No Bio	No Bid
	Total Price	\$1,128.00		1	11 •			
1	Brand	Marlor					1	
	Model	1284	44260€	W147	BS-2401XXXX			
7	900 Each-Connect Four		1	l	ł	!		1
	Price Each	\$9.82						
1	Total Price	\$8,838.00						
	Brand Model	Milton Bradley 4430						
1	T 1	4430	<u>1</u> 4430	1 **2003	1 53-40/1222	GIVI4430] 040.	1 100
8	Deleted		1					1
					1	1		
			ļ					
L			<u></u>	L.,	J	L		

Opened:	January 4, 2005	Learning Zone	S&G Contracting, Inc.	S&S Worldwide	BSN Sports	Collegiate Pacific	Kaplan Early Learning Co.	US Toy Co., Inc. dba Constructive Playthings
For:	Annual Contract for Recreational Board & Table Games	10531 Gulfdale	8863 Anderson Mill Rd., Ste. 108	75 Mill St.	PO Box 7726	13950 Seniac #100	PO Box 609	13201 Arrington Road
A795-05	AW/arw	San Antonio, TX 78216	Austin, TX 78729	Colchester, CT 06415	Dallas, TX 75209	Dallas, TX 75234	Lewisville, NC 27023	Grandview, MO 64030
ltem	Description							
9	238 Each-Monopoly, San Antonio ed.			i	1			
	Price Each Total Price Brand Model	\$29.95 \$7,128.10 Late for the Sky 1345	*\$29.99 \$7,137.62 Late for the Sky 1345		No Bid	No Bio	No Bio	No Bio
10	354 Each-Bingo	· · · · · · · · · · · · · · · · · · ·						No Bio
	Price Each Total Price Brand Model	\$1.99 \$704.46 Pressmar 190506	\$2,106.30 Pressman	\$5,203.80 Walco		No Bio	s No Bio	NO SIL
11	140 Each-Coolie Price Each Total Price Brand Model	\$4.99 \$698.60 Milton Bradley 47825		\$716.80		No Bio	\$9.30 \$1,302.00 Kaplar 858:	
12	30 Each-Shuttles Price Each Total Price Brand Model	\$19.99 \$599.70 Mindware 791776	\$538.50 Mindware		No Bid	No Bio	No Bio	No Bio
13	140 Each-Sorry Price Each Total Price Brand Model	\$11.89 \$1,664.60 Parker Bros 0390	\$2,854.60 Parker Bros	\$1,989.40 Not Giver	\$2,290.40 Parker Bros.	\$2,156.00 Col Pad	\$2,849.00 Kaplai	1
14	428 Each-Twister Price Each Total Price Brand Model	\$11.55 \$4,960.52 Milton Bradley 4645	\$17.99 \$7,699.72 Milton Bradley	\$13.20 \$5,649.60 Not Giver	\$15.21 \$6,509.88 Milton Bradley	\$14.45 \$6,184.60 Col Pa	\$19.50 \$8,346.00 Kaplai	No Bio
15	140 Each-Go Fishing for Letters Price Each Total Price Brand Model	\$8.69 \$1,216.60 Unversity Games 1573	\$1,678.60 Unversity Games)	No Bio	No Bio	1 No Bio	d No Bio
16	240 Each-Tri-Ominos Price Each Total Price Brand Model	\$4.85 \$1,173.60 Pressmar 44200	\$2,877.60 Pressmar)	t No Bio	\$6.00 \$1,440.00 Col Pa GM442		No Bid
17	240 Each-Guess Who? Price Each Total Price Brand Model	\$12.15 \$2,925.60 Milton Bradle 480	\$5,172.00 Milton Bradle	\$3,168.00 Not Give) n	no Bi	d \$20.3 \$4,884.0 Kapla 4480	\$5,808.00 Milton Bradle

Opened:	January 4, 2005	Learning Zone	S&G Contracting, Inc.	S&S Worldwide	BSN Sports	Collegiate Pacific	Kaplan Early Learning Co.	US Toy Co., Inc. dba Constructive Playthings
For:	Annual Contract for Recreational Board & Table Games	10531 Gulfdale	8863 Anderson Mill Rd., Ste. 108	75 Mill St.	PO Box 7726	13950 Senlac #100	PO Box 609	13201 Arrington Road
A795-05	AW/arw	San Antonio, TX 78216	Austin, TX 78729	Colchester, CT 06415	Dallas, TX 75209	Dallas, TX 75234	Lewisville, NC 27023	Grandview, MO 64030
Item	Description							
18	128 Each-Scattergories Price Each Total Price Brand Model	\$21.30 \$2,726.40 Milton Bradley 4917	\$33.59 \$4,299.52 Milton Bradley 4917	\$3,066.88 Milton Bradley		No Bid	No Bid	No Bid
19	210 Each-Scrabble Price Each Total Price Brand Model	\$10.35 \$2,173.50 Milton Bradley 4024	\$17.99 \$3,777.90 Milton Bradley 4024	\$2,509.50 Not Given	Milton Bradley	\$2,782.50		No Bid
20	248 Each-Hangman Price Each Total Price Brand Model	\$7.69 \$1,907.12 Milton Bradley 4323	\$15.59 \$3,866.32 Milton Bradley 4323		No Bid	No Bio	No Bid	No Bid
21	308 Each-Throw and Go Jenga Price Each Total Price Brand Model	\$8.49 \$2,614.92 Milton Bradley 4793	\$5,159.00 Milton Bradley		No Bid	No Bid	No Bid	No Bid
22	138 Each-Scrabble Junior Price Each Total Price Brand Model	\$7.44 \$1,026.72 Milton Bradley 8743	\$1,820.22	\$1,175.76 Milton Bradley	•	No Bid	No Bid	No Bid
23	140 Sets-Barrel of Monkeys Price Each Total Price Brand Model	\$2.19 \$306.60 Rincc GA-MONBA	\$838.60	\$364.00 Milton Bradley) 	No Bio	I No Bid	No Bid
24	280 Sets-Balls and Jacks Price Each Total Price Brand Model	\$0.79 \$221.20 Rinco GA-JACLG	US Games	\$128.80 Aurien	\$383.60 US Games		t No Bid	No Bid
25	248 Each-Pictionary Junior Price Each Total Price Brand Model	\$11.99 \$2,973.52 Milton Bradley 4532	\$6,197.52 Milton Bradley	\$3,514.16 Milton Bradley	\$4,044.88 Milton Bradley		\$20.35 \$5,046.80 Kaplar 15821	
. 26	140 Sets-Flash Cards-Numbers Price Each Total Price Brand Model	\$2.79 \$390.60 School Zone 4005		9	No Bio	No Bio	d No Bio	No Bid

Opened:	January 4, 2005	Learning Zone	S&G Contracting, Inc.	S&S Worldwide	BSN Sports	Collegiate Pacific	Kaplan Early Learning Co.	US Toy Co., Inc. dba Constructive Playthings
For:	Annual Contract for Recreational Board & Table Games	10531 Gulfdale	8863 Anderson Mill Rd., Ste. 108	75 Mill St.	PO Box 7726	13950 Seniac #100	PO Box 609	13201 Arrington Road
A795-05	AW/arw	San Antonio, TX 78216	Austin, TX 78729	Colchester, CT 06415	Dallas, TX 75209	Dallas, TX 75234	Lewisville, NC 27023	Grandview, MO 64030
Item 27	Description 140 Sets-Flash Cards-Alphabet							
	Price Each Total Price Brand Model 140 Sets-Old Maid Cards	\$2.70 \$378.00 School Zone 4001	\$3.35 \$469.00 School Zone 4001	\$387.80 Trend Enterprises		No Bid	Ńo Bid	No Bid
28	Price Each Total Price Brand Model	\$2.79 \$390.60 School Zone 5015	\$3.25 \$455.00 School Zone 6330	\$91.00 US Playing Cards	\$278.60 BSN	l .	No Bid	No Bid
29	500 Sets-Playing Cards Price Each Total Price Brand Model	\$0.68 \$340.00 Rinco SUPLCAR	\$2,090.00 US Playing Cards	\$285.00	\$6,275.00 BSN	\$416.666 Col Pac		No Bid
30	508 Sets-Yahtzee	\$4.90	\$9.59	\$5.47	\$6.28	\$6.06	No Bid	No Bid
	Price Each Total Price Brand Model	\$4.90 \$2,489.20 Milton Bradley E0950	\$4,871,72 Milton Bradley	\$2,778.76 Milton Bradley	\$3,190.24 Milton Bradley	\$3,078.48		No Biu
31	380 Sets-Memory Price Each Total Price Brand Model	\$5.45 \$2,071.00 Milton Bradley 4664	\$4,556.20 Milton Bradley	\$2,325.60 Milton Bradley		No Big	\$10.16 \$3,860.80 Kaplar 9114	
32	438 Sets-Dominoes Price Each Total Price Brand Model	\$0.89 \$389.82 Rinco GA-DOMIN	\$1,204.50 Pressmar	\$416.10 S&S	\$481.80 Pressmar)	No Bid	\$2.48 \$1,086.24 Constructive Playthings MTC273
33	526 Sets-Chess, Checkers, Backgammon combo Price Each Total Price Brand Model	\$4.20 \$2,209.20 Pressmar 111312	\$3,497.90 Nasco	\$2,282.84 Pressmar		No Bio	No Bio	No Bid
34	144 Sets-Trivial Pursuit Junior Price Each Total Price Brand Model	\$12.19 \$1,755.36 Hasbro 6250	\$6,046.56 Pop Culture DVI	5	t No Bio	No Bio	no Bio	No Bid
35	138 Sets-Trouble Price Each Total Price Brand Model	\$8.89 \$1,226.82 Milton Bradley 4658	\$1,985.8 Milton Bradle	2 \$1,368.96 y Milton Bradle	6 \$1,575.9 y Milton Bradle	\$1,511.10 Y Col Pa	0 \$1,987.20 C Kapla	7

Opened:	January 4, 2005	Learning Zone	S&G Contracting, Inc.	S&S Worldwide	BSN Sports	Collegiate Pacific	Kaplan Early Learning Co.	US Toy Co., Inc. dba Constructive Playthings
For:	Annual Contract for Recreational Board & Table Games	10531 Gulfdale	8863 Anderson Mill Rd., Ste. 108	75 Mill St.	PO Box 7726	13950 Senlac #100	PO Box 609	13201 Arrington Road
A795-05	AW/arw	San Antonio, TX 78216	Austin, TX 78729	Colchester, CT 06415	Dallas, TX 75209	Dallas, TX 75234	Lewisville, NC 27023	Grandview, MO 64030
ltem	Description							
36	188 Sets-Boggle, Standard ed.						1 .	
	Price Each Total Price Brand Model	\$10.60 \$1,992.80 Parker Bros. 0384	\$3,156.52 Parker Bros.	\$2,246.60 Parker Bros.		No Bio	No Bio	No Bid
37	198 Sets-Rummikub Price Each Total Price Brand	\$14.99 \$2,968.02 Pressman	\$2,134.44		No Bid	No Bio	No Bio	No Bid
38	Model 198 Sets-Rummibkub Junior Price Each	0400 No Bid	0420-06		No Bid	No Bio	1 No Bio	No Bid
	Total Price Brand Model		\$2,134.44 Pressman 1141-06	1				
39	188 Sets-Sequence, Standard ed. Price Each	\$12.10	\$23.94	No Bid	No Bid	No Bio	No Bio	No Bid
	Total Price Brand Model	\$2,274.80 Jax 8002	Jax	d				
40	188 Sets-Rack-O-Card Price Each Total Price Brand Model	\$4.99 \$938.12 Hasbro 40073	\$2,021.00 Parker Bros	\$977.60 Not Giver		No Bio	No Bio	No Bid
41	40 Sets-Othello Price Each Total Price Brand Model	\$7.68 \$307.20 Matte B3165	\$479.60 Matte	\$315.60 Matte) It	No Bio	No Bio	No Bid
42	120 Each-Uno, Stacko Price Each Total Price Brand Model	\$13.49 \$1,618.80 Matte 42466	\$16.75 \$2,010.00 Matto	N A S \$3.82 D \$458.40 Matte	No Bio	No Bio	o No Bio	t No Bid
	Terms	2%-10				Net 30	Net 3	Net 30
	Innual Award	\$58,256.23	\$11,945.00	0 \$1,524.80	0]		1	<u> </u>

^{*}Award based on 3%-10 discount

NAS-Item 42 Vendor bid on Uno cards; specifications for Uno Stackable (Stacko) game

CITY OF SAN ANTONIO BID TABULATION

ANNUAL CONTRACT FOR: VERITAS SOFTWARE LICENSES AND SUPPORT

Veritas Software 350 Ellis Street Mountain View, CA 94043

DESCRIPTION	ESIMATED QUANTITY	ESTIMATED TOTAL PRICE
Software Licenses (42% off List)	79	\$170,197.10
Software Support (42% off List)	79	\$39,756.68
Technical Services (12% off List)		\$46,200.00
Training (12% off List)		\$16,632.00

(Upon Award – October 31, 2006) (DIR-VPC-03-012)

Estimated Annual Total	\$272,785.78
Terms	Net 30

A925b-05 LB/clb

Opened:	February 18, 2005					
For:	Annual Contract for High Intensity Prismatic Sign Sheeting					
			3M Company	Hall Signs, Inc.	Roadrunner Traffic Supply, Inc.	
A1020-05	A 1020-05		3M Center , Bldg. 225- 5S-08, P.O. Box 33225	P.O. Box 515	P.O. Box 122837	
Item	Description	Estimated	St. Paul,	Bloomington, IN	Fort Worth,	
		Quantities	MN 55133-3225	47402	TX 76121 .	
1	High Performance Prismatic Sign Sheeting Price per Square Yard Brand Model	15000	\$11.13 \$166,950.00 3M 3930 Series	\$237,600.00 3M	\$371,250.00 3M	
	Delivery		20-30 Days	30-45 Days	7-14 Days	
	Terms		Net 30	Net 30	Net 30	
	Totals		\$166,950.00	\$237,600.00	\$371,250.00	
·	Total Estimated Award		\$166,950.00			

SECTION III COUNCIL, MARCH 24, 2005 LOW RESPONSIVE BIDS

SECTION III: LOW RESPONSIVE BIDS

The bids in this section are low responsive bids in which award is recommended to bidders other than the lowest bidders because the lowest bids failed to meet City's specifications.

COMMODITY

 Recreational Sports Equipment A796-05
 Upon Award through 9-30-05

This contract will provide the City of San Antonio Parks & Recreation Department with recreational sports equipment for the children's Afterschool Challenge Program sites and Summer Recreation sites.

Arts and Crafts
 A797-05
 Upon Award through 9-30-05

This contract will provide the City of San Antonio Parks & Recreation Department with arts and crafts supplies for the children's Afterschool Challenge Program and Summer Recreation Program.

MBE <u>VENDOR</u>

S & S Worldwide Items 5, 6, 9, 10, 14-17, 20, 21, 25 Est Amount \$31,879 annually

Gregg United Sports, Inc. Items 4A, 4B, 11, 12, 18, 24, 26, 27 Est Amount \$8,530 annually

BSN Sports Items 1A-1C, 2, 3, 7, 19, 22, 23 Est Amount \$4,843 annually

S & S Worldwide Items 5, 7, 9, 10, 12, 13, 17, 18, 19, 22-29, 32, 33, 34, 39, 42-48, 51, 60, 63, 64, 66, 67, 68, 70, 71, 73, 76 Est Amount \$33,193 annually

Sax Arts & Crafts Items 11, 14, 15, 16, 20, 21, 30, 31, 35, 36, 37, 40, 52, 56, 58, 65, 78, 79, 83-89, 96 Est Amount \$11,201 annually

Discount School Supplies Items 1, 2, 6, 55, 62, 74 Est Amount \$8,767 annually

Nasco Items 4, 57, 59, 61, 69, 72 Est Amount \$8,769 annually

MBE Learning Zone
Items 3, 75
Est Amount \$5,420 annually

SECTION III COUNCIL, MARCH 24, 2005 LOW RESPONSIVE BIDS

SECTION III: LOW RESPONSIVE BIDS

The bids in this section are low responsive bids in which award is recommended to bidders other than the lowest bidders because the lowest bids failed to meet City's specifications.

COMMODITY

Arts and Crafts (Continued) A797-05 Upon Award through 9-30-05

Plastic Bags
A934b-05
Upon Award through 9-30-05
With one year option the extend

This contract will provide the City of San Antonio with plastic bag products for City facilities and buildings.

MBE VENDOR

Oriental Trading Company, Inc. Item 54 Est Amount \$716 annually

Pyramid School Products Items 80, 90-95 Est Amount \$123 annually

Central Poly Corp.
Entire Bid
Est Amount \$48,000 annually

Opened:	January 4, 2005	S&S Worldwide	Gregg United Sports, Inc.	BSN Sports	Anaconda Sports, Inc.	Baden Sports, Inc.	Cannon Sports	Collegiate Pacific	DVF Sporting Goods Co.
For:	Recreational Sports Equipment	75 Mill St.	PO Box 970008	PO Box 7726	85 Katrine Lane	34114 21st Ave S.	PO Box 11179	13950 Sencal #100	PO Box 3580
A796-05	AW/arw	Colchester, CT 06415	Boca Raton, FL 33497	Dallas, TX 75209	Lake Katrine, NY 12449		Burbank, CA 91510	Dallas, TX 75234	Williamsburg, VA 23187
Item	Description								
1A	200 Each-Playground balls, red	1							
	Price Each Total Price Brand Model	\$0.96 \$192.00 Spectrum W6053001	1	\$180.00 Voit		\$0.92 \$184.00 Baden PG6	\$0.94 \$188.00 CSI 9541	\$210.00 Col Pac	
1B	200 Each-Playground balls, green	1		20 11 20 111		1			1
	Price Each Total Price Brand Model	\$1.09 \$218.00 Spectrum W6055004	\$216.00 Champion	\$214.00 Voit		\$1.29 \$258.00 Baden PG8.5	\$1.26 \$252.00 CS 9549	\$254.00 Col Pad	
1C	200 Each-Playground balls, blue Price Each Total Price Brand Model	\$1.67 \$334.00 Spectrum W6056003	\$316.00 Champion	\$282.00 Voi:		No Bid	\$1.71 \$342.00 CS 9544	\$344.00 Col Pad	
2	125 Each-Jump ropes, colored plastic Price Each Total Price Brand Model	\$6.48*/\$0.54 \$810.00 S&S W6165001	Champior	\$765.00 US Games		No Bid	\$7.68 \$960.00 CS 95013) 	1 No Bid
3	88 Each-Basketballs Price Each Total Price Brand Model	\$1.85 \$162.80 Spectrum W6174005		\$1.81 \$159.28 MacGrego MCX500XX		\$2.03 \$178.64 Bader BR 400	\$2.20 \$193.60 CS 0487	\$190.96 I Col Pa	\$715.44 Sportime
4A	5 Sets, Adult scrimmage vest, red Price Each Total Price Brand Model	No Bio	\$23.81 \$119.05 Champior SVMWN	\$128.30 BSN	1	No Bid	\$24.46 \$122.30 CS 1365	\$195.00 Col Pa	0 \$148.65 c Champion
4B	5 Sets, Adult scrimmage vest, yellow Price Each Total Price Brand Model	No Bio	\$23.81 \$119.05 Champior SVMWN	\$128.30 BSN	1	No Bio	\$24.46 \$122.30 CS 1382	\$195.00 Col Pa	0 \$148.65 c Champion
5	50 Each-Flag football belt, red Price Each Total Price Brand Model	*\$.525/\$6.30 \$26.25 \$&\$ W379	\$30.50 Champion	\$30.50 Flag A Tag		s No Bio	\$0.81 \$40.50 CS 2069	\$47.50 Col Pa	0 \$46.50 c Champion

Opened:	January 4, 2005		Gregg United Sports, Inc.	BSN Sports	Anaconda Sports, Inc.	Baden Sports, Inc.	Cannon Sports	Collegiate Pacific	DVF Sporting Goods Co.
For:	Recreational Sports Equipment	75 Mill St.	PO Box 970008	PO Box 7726	85 Katrine Lane	34114 21st Ave S.	PO Box 11179	13950 Sencal #100	PO Box 3580
A796-05			Boca Raton, FL 33497	Dallas, TX 75209	Lake Katrine,		Burbank, CA 91510	Dallas, TX 75234	Williamsburg, VA 23187
Item	Description						, , , , , , , , , , , , , , , , , , , ,		
6	50 Each-Flag football belt, yellow								
	Price Each Total Price Brand Model	*\$.525/\$6.30 \$26.25 S&S W3795	\$0.61 \$30.50 Champion FFB1	\$0.61 \$30.50 Flag A Tag BS MSFBYELA	, i	No Bid	\$0.81 \$40.50 CS 2070	\$47.50 Col Pac	\$46.50 Champion
7	70 Each-Basketball, junior size Price Each	\$1.75	No Bid	\$1.69	No Bid	\$1.93	\$2.20	\$2.50	No Bid
	Total Price Brand Model	\$122.50 Spectrum W6110005		\$118.30 MacGregor MCX2500XX		\$135.10 \$135.10 Baden BR410	\$154.00 CS	\$175.00 Col Pac	
8	Deleted		'				:		
9	70 Each-Ping pong nets								
	Price Each Total Price Brand	\$1.76 \$123.20 Champion	No Bid	No Bid	No Bid	No Bid	\$92.40 CS	\$136.50 Col Pad	\$576.10 Champion
	Model	PN105N					5427	GT105N	PN105
10	100 Sets-Wooden eggs and spoon sets Price Each Total Price Brand Model	\$4.69 \$469.00 Spectrum W6516	No Bid	\$8.09 \$809.00 US Games BS 777XXXX) S	No Bid	No Bio	No Bio	t No Bid
11	200 Boxes-Ping pong balls, deluxe Price Each	\$0.54	\$0.44	\$0.48	No Bid	No Bid	\$0.63	\$0.65	\$0.78
:	Total Price Brand Model	\$108.00 \$&S W3020	\$88.00 Champion	\$96.00 Gamecraf	t		\$126.00 CS 5408	\$130.00 Col Pa	\$156.00 C Champion
12	400 Each-Wiffle balls, baseball size Price Each Total Price Brand Model	\$0.41 \$164.00 \$&S W5726007	Champior	\$224.00 BSN	4	No Bio	\$0.32 \$128.00 CS 2106		d \$0.33 \$132.00 Champion PLBB
13	Deleted								
	<u> </u>	<u> </u>						L	

Opened:	January 4, 2005	S&S Worldwide	Gregg United Sports, Inc.	BSN Sports	Anaconda Sports, Inc.	Baden Sports, Inc.	Cannon Sports	Collegiate Pacific	DVF Sporting Goods Co.
For:	Recreational Sports Equipment	75 Mill St.	PO Box 970008	PO Box 7726	85 Katrine Lane	34114 21st Ave S.	PO Box 11179	13950 Sencal #100	PO Box 3580
A796-05	AW/arw	Colchester, CT 06415	Boca Raton, FL 33497	Dallas, TX 75209	Lake Katrine,	Federal Way, WA 98003	Burbank, CA 91510	Dallas, TX 75234	Williamsburg, VA 23187
Item	Description								
14	30 Tubes-Badminton shuttlecocks								
	Price Each Total Price Brand Model	\$0.60 \$18.00 \$&\$ W3956	\$24.60 Champion	\$114.30 BSN	No Bid	No Bid	\$3.33 \$99.90 CS 0233		1. No Bid
15	150 Each-Inflator, hand held Price Each Total Price Brand Model	\$1.26 \$189.00 \$&\$ W3512	\$244.50 Champior	\$235.50	No Bid	No Bid	\$2.65 \$397.50 CS 13003	\$225.00 Col Pa	\$372.00 Champion
16	272 Packs-Inflating needles Price Each Total Price Brand Model	\$.48*/\$.24 \$130.56 \$&\$ W2329		\$0.49 \$133.28 BSN BS MSBEDPACE	No Bid	No Bid	\$0.53 \$144.16 CS 1300416	\$239.36 Col Pa	\$144.16 DVF
17	310 Packs-Whistles, black plastic Price Each Total Price Brand Model	\$2.04 \$632.40 \$&3 W589600	\$669.60	\$657.20 BSN	No Bid	No Bid	\$2.40 \$744.00 CS 1302	\$1,116.00 Col Pa	\$846.30 C Champion
18	310 Sets-Lanyards, nylon, black Price Each Total Price Brand Model	\$2.04 \$632.40 Spectrun W589700	\$2.02 \$626.20 Champior	\$2.12 \$657.20 BSN	No Bid	No Bid	\$2.04 \$632.40 CS 1344	\$930.00 Col Pa	\$846.30 C Champion
19	138 Sets-Balls, plastic, baseball size Price Each Total Price Brand Model	\$2.45 \$338.10 S&: W426	\$1.64) \$226.32 Champior	\$1.53 \$211.14 BSN		No Bid) No Bio) !!	
20	150 Kits-Playground kits Price Each Total Price Brand	\$41.86 \$6,279.00 \$&:	No Bio		No Bio	No Bic	No Bio	d No Bi	d No Bid
21	Model 150 Packs-Field Day Activity Pack Price Each Total Price Brand Model	W603 \$155.9: \$23,389.5: \$& W453	B B B D D	, No Bid	s No Bio	l No Bio	t No Biu	d No Bi	d · No Bid

Opened:	January 4, 2005	S&S Worldwide	Gregg United Sports, Inc.	BSN Sports	Anaconda Sports, Inc.	Baden Sports, Inc.	Cannon Sports	Collegiate Pacific	DVF Sporting Goods Co.
For.	Recreational Sports Equipment	75 Mill St.	PO Box 970008	PO Box 7726	85 Katrine Lane	34114 21st Ave S.	PO Box 11179	13950 Sencal #100	PO Box 3580
A796-05	AW/arw	Colchester, CT 06415	Boca Raton, FL 33497	Dallas, TX 75209	Lake Katrine, NY 12449	Federal Way, WA 98003	Burbank, CA 91510	Dallas, TX 75234	Williamsburg, VA 23187
Item	Description								
22	260 Balls-Basketballs, size 7		Į					,	
	Price Each Total Price Brand Model	\$9.21 \$2,394.60 Spectrum W8214001		\$6.92 \$1,799.20 MacGregor BS-MCX6000	\$2,119.00 Anaconda Sports	\$1,801.80 Baden	\$2,033.20 CS	\$2,951.00 Col Pac	\$6,819.80 Spalding
23	162 Balls-Basketballs, size 6		·						
	Price Each Total Price Brand Model	\$8.64 \$1,399.68 Spectrum W8214002	\$1,310.58 Champion	\$1,114.56 MacGregor	\$1,320.30 Anaconda Sports	\$1,119.42 Baden	\$1,130.76 CS	\$1,838.70 Col Pac	\$6,819.80 Spalding
24	162 Balls-Footballs, full size	1	35.000	DO MONGEOOM	j)	1]	11 1000 20.3
_,	Price Each Total Price Brand Model	\$26.62 \$4,312.44 Spalding W7322	\$1,129.14		No Bid	\$10.91 \$1,767.42 Bader FC500	\$1,926.18 Spalding	\$1,838.70 Col Pag	
25	162 Balls-Volleyballs, official size								
	Price Each Total Price Brand Model	\$3.68 \$596.16 Spectrum W5830	\$1,982.88 Champion	\$727.38 MacGregor	\$1,028.70 Champion	\$873.18 Bader	\$869.94 CS	\$2,468.88 Col Pad	\$1,803.06 Tachikara
26	140 Each-Parachutes, 24 ft.		Ĭ						
	Price Each Total Price Brand Model	\$47.17 \$6,603.80 S&S W2369	\$6,105.40 Champion	US Games	Champion		\$76.63 \$10,728.20 CS 21136	\$8,393.00 Col Pad	\$7,942.20 Champion
27	400 Paddles-Ping Pong, simulated, sand face Price Each	\$0.80	11		\$1.09	No Bid	\$1.02	\$0.98	\$0.97
	Total Price Brand Model	\$320.00 \$&\$ W3018	Champion	Gamecraft	Champion		\$408.00 CS 5423		Champion
Estimated An	Terms	Net 30 \$31,879.32				Net 30	Net 30	Net 30	Net 30

^{*}Prices have been adjusted for comparison purposes only.

No Bid: Varsity Spirit Fashions

Item 8-Deleted, No competitive pricing received-Dept. will purchase on as needed basis.

Item 13-Deleted, No bids received

Opened:	January 4, 2005	Nasco	Pyramid School Products	Riddell/All American	Sport Master
For:	Recreational Sports Equipment	901 Janesville Ave.	6510 North 54th St.	6846 Alamo Downs Parkway	PO Box 5000
A796-05	AW/arw	Fort Atkinson, WI 53538	Tampa, FL 33610	San Antonio, TX 78238	Pittsburgh, PA 15206
Item	Description				
1A	200 Each-Playground balls, red				
	Price Each Total Price Brand : Model	\$1.00 \$200.00 Champion PE00230E	\$218.00 Champion		No Bid
1B 1C	200 Each-Playground balls, green Price Each Total Price Brand Model 200 Each-Playground balls, blue	\$1.18 \$236.00 Champior PE00391E	\$278.00 Champion		No Bid
10	Price Each Total Price Brand Model	\$2.13 \$426.00 Champior PE00232E	\$364.00 Champior	1	No Bid
2	125 Each-Jump ropes, colored plastic Price Each Total Price Brand Model	\$8.28 \$1,035.00 Champior PE004088	\$1,185.00 BSN	1	\$23.40 \$2,925.00 Champior JRS7
3	88 Each-Basketballs Price Each Total Price Brand Model	\$4.06 \$357.26 Wilson PE02620E	\$280.72 Champion		No Bid
4A	5 Sets, Adult scrimmage vest, red Price Each Total Price Brand Model	No Bio	\$27.84 \$139.20 Gophe GD2990	n n	No Bio
48	5 Sets, Adult scrimmage vest, yellow Price Each Total Price Brand Model	No Bio	\$27.8 \$139.20 Gophe GD2990	or .	i No Bio
5	50 Each-Flag football belt, red Price Each Total Price Brand Model	\$8.5 \$428.0 Champio PE00364	s35.0 n Champio	n	d No Bio

Opened:	January 4, 2005	Nasco	Pyramid School Products	Riddell/All American	Sport Master
For:	Recreational Sports Equipment	901 Janesville Ave.	6510 North 54th St.	6846 Alamo Downs Parkway	PO Box 5000
A796-05	AW/arw	Fort Atkinson, WI 53538	Tampa, FL 33610	San Antonio, TX 78238	Pittsburgh, PA 15206
Item	Description				
6	50 Each-Flag football belt, yellow				<u> </u>
	Price Each Total Price Brand Model	\$8.56 \$428.00 Champior PE01650E	\$35.00 Champion		No Bid
7	70 Each-Basketball, junior size				
	Price Each Total Price Brand Model	\$4.06 \$284.20 Spalding PE000458	\$209.30 Champion		No Biđ
8	Deleted				
9	70 Each-Ping pong nets Price Each Total Price Brand Model	No Bio	\$6.55 \$461.30 Champior PN108) 1	1 No Bid
10	100 Sets-Wooden eggs and spoon sets Price Each Total Price Brand Model	No Bio	d No Bio	1 No Bio	t No Bid
11	200 Boxes-Ping pong balls, deluxe Price Each Total Price Brand Model	No Bi	ti \$0.5- \$108.00 Champion 1 Sta		d No Bid
12	400 Each-Wiffle balls, baseball size Price Each Total Price Brand Model	No Bi	d \$0.2: \$112.0 Champio PLB	0 \$252.0 n Ridde	0
13	Deleted	,			

Opened:	January 4, 2005	Nasco	Pyramid School Products	Riddell/All American	Sport Master
For:	Recreational Sports Equipment	901 Janesville Ave.	6510 North 54th St.	6846 Alamo Downs Parkway	PO Box 5000
A796-05	AW/arw	Fort Atkinson, WI 53538	Tampa, FL 33610	San Antonio, TX 78238	Pittsburgh, PA 15206
Item	Description				
14	30 Tubes-Badminton shuttlecocks				
	Price Each Total Price Brand Model	No Bid	\$1.08 \$32.40 Champion SHP10		No Bid
15	150 Each-Inflator, hand held Price Each Total Price Brand Model	No Bid	\$1.89 \$283.50 Champior IF		No Bid
16	272 Packs-inflating needles Price Each Total Price Brand Model	*\$.045983/\$11.03 \$125.01 Champior	\$146.88 Champion	\$288.32 BSN	
17	310 Packs-Whistles, black plastic Price Each Total Price Brand Model	No Bio	\$2.76 \$855.60 Champior 601		No Bid
18	310 Sets-Lanyards, nylon, black Price Each Total Price Brand Model	\$3.28 \$1,016.80 Champior PE016099	\$709.90 BSN		No Bid
19	138 Sets-Balls, plastic, baseball size Price Each Total Price Brand Model	No Bio		No Bid	No Bid
20	150 Kits-Playground kits Price Each Total Price Brand Model	No Bio	\$79.95 \$11,992.50 S&5 RMB-W603) S	No Bid
21	150 Packs-Field Day Activity Pack Price Each Total Price Brand Model	, No Bio	i No Bio	l No Bio	No Bid

Opened:	January 4, 2005	Nasco	Pyramid School Products	Riddell/All American	Sport Master
For:	Recreational Sports Equipment	901 Janesville Ave.	6510 North 54th St.	6846 Alamo Downs Parkway	PO Box 5000
A796-05	AW/arw	Fort Atkinson, WI 53538	Tampa, FL 33610	San Antonio, TX 78238	Pittsburgh, PA 15206
Item	Description				
22	260 Balls-Basketballs, size 7 Price Each Total Price Brand Model	15.63 \$4,063.80 Wilson PE00817E	\$2,441.40 Champion		No Bid
23	162 Balls-Basketballs, size 6 Price Each Total Price Brand Model	\$15.63 \$2,532.06 Wilson PE00818E	\$1,514.70 Champior		No Bid
24	162 Balls-Footballs, full size Price Each Total Price Brand Model	No Bid	\$7.99 \$1,294.38 Champioi CF100	1	No Bid
25	162 Balls-Volleyballs, official size Price Each Total Price Brand Model	No Bio	\$5.99 \$970.38 Champio VB	3 n	No Bid
26	140 Each-Parachutes, 24 ft. Price Each Total Price Brand Model	\$61.24 \$8,573.60 Nasci PE01683i	\$7,264.60 Champio	0	\$61.29 \$8,580.60 Champion NP-24
27	400 Paddles-Ping Pong, simulated, sand face Price Each Total Price Brand Model	\$0.8t \$344.0t Champio PE00448t	0 \$344.0 n Champio	o n	d No Bid
	Terms	Net 3	0 Net 3	0 1%*1	0 Net 30

^{*}Prices have been adjusted for comparison purposes only.

No Bid: Varsity Spirit Fashions

Item 8-Deleted, No competitive pricing received-Dept, will purchase on as ne

Item 13-Deleted, No bids received

Opened:	January 4, 2005	S & S Worldwide	Sax Arts & Crafts	Discount School Supplies	Nasco	Learning Zone	Oriental Trading Company, Inc.	Pyramid School Products
For:	Arts & Crafts Supplies	75 Mill St.	PO Box 510710	2 Lower Ragsdale, Suite 125	901 Janesville Avenue PO Box 901	10531 Gulfdale	5455 S. 90th Street	6510 North 54th Street
A797-05	AW/arw	Colchester, CT 06415	New Berlin, WI 53151	Monterey, CA 93940	Fort Atkinson, WI 53538	San Antonio, TX 78216	Omaha, NE 68127	Tampa, FL 33610
Item	Description				İ			
1	280 Each-Color Me Sports Frame	7					· .	
	Price Each	\$6.17	No Bid			\$8.99		No Bid
	Total Price Brand	\$1,727.60 S&S		\$1,327.20 Discount School Supply	}	\$2,517.20 S&S		
	Model	GP1058		FRMS		SR9GP458		
2	420 Each-Supervisors							
]	Price Each	\$10.90				\$17.99		No Bid
	Total Price	\$4,578.00		\$2,604.00	(\$7,555.80		
}	Brand Model	S&S GP457		Discount School Supply VISORS		S&S GP457		
3	188 Each-Sponge Sheets	Gr 457	!	1,000,0	<u>}</u> T	i (1.43)		
3	Price Each	\$9.00	No Bid	No Bid	No Bid	\$7.99	No Bid	No Bid
	Total Price	\$1,692.00				\$1,502.12		1.02.0
	Brand	S&S				S&S		1
1	Model	C050				C050	4	j
4	52 Packs-Scratch Art Scratchsheets	NAS	\$13.63	No Bid	*	T #10.00	NAS	No Bid
	Price per Pack Total Price	\$11.00 \$572.00	\$708.76		\$13.14 \$683.28			1
	Brand	\$85	Scratch Art		Scratch Art	Scratch Art		
	Model	PE1497	SAPMC50		9710365	SAPMC50	57/6170	1
5	175 Bottles-Faster Plaster Bottles		<u> </u>					1
-	Price per Bottle	\$2.67 \$467.25	No Bid	No Bid	No Bid	\$4.99 \$873.25		No Bid
	Total Price Brand	\$467.25 \$&\$				\$873.25 \$&S		
1	Model	PL699				PL699		
6	100 Buckets-Bucket of Beads			•				
	Price per Bucket	\$3.99						No Bid
	Total Price	\$399.00	\$438.00 Stanislaus		1	\$699.00		i i
	Brand Model	S&S BE435		Discount School Supply BEAD	3	S&S BE435		
7	160 Packs-Flying colors nylon twine pack				<u>.,,</u>			
	Price per Pack	\$11.99	No Bid	No Bio	No Bio	\$19.99	No Bio	No Bid
İ	Total Price	\$1,918.40	d .			\$3,198.40		
1	Brand Model	Neon Ombre Rattai JE386			1	S&S JE386		1
8	Deleted	02500	<u>1</u> 1			02300	1	
9	320 Each-Split ring, 1*		1					·
"	Price Each	\$0.47	No Bid	No Bio	No Bio	No Bio	No Bio	No Bid
	Total Price	\$150.40	lk l					
	Brand Model	S&S GP6948						1
1 40	140 Sets-Sponge Shapes	GP694E	1 .	NAS		1		
10	Price Per Set	\$12.75	No Bid	4	No Bio	No Bio	No Bio	No Bid
1	Total Price	\$1,785.00	*	\$987.00		1.000	1	
	Brand	S&S		Discount School Supply				1
	Model	DC8	3	STAMPI	<u>'l</u>	J	<u> </u>	

Opened:	January 4, 2005	S & S Worldwide	Sax Arts & Crafts	Discount School Supplies	Nasco	Learning Zone	Oriental Trading Company, Inc.	Pyramid School Products
For.	Arts & Crafts Supplies	75 Mill St.	PO Box 510710	2 Lower Ragsdale, Suite 125	901 Janesville Avenue PO Box 901	10531 Gulfdale	5455 S. 90th Street	6510 North 54th Street
A797-05	AW/arw	Colchester, CT 06415	New Berlin, WI 53151	Monterey, CA 93940	Fort Atkinson, WI 53538	San Antonio, TX 78216	Omaha, NE 68127	Tampa, FL 33610
Item	Description							
11	1050 Each-Railroad Board, white							
	Price Each	\$.24/*/\$6.00	*\$0.196/\$4.90	No Bid	No Bid	No Bid	No Bid	1
	Total Price	\$252.00	\$205.80					\$304.50
	Brand Model	Not Given	Pacon 5460-1					AM Paper RR4WH25
	167 Sets-Wonder Foam	FE0/0	3400-1	l T				1111441123
12	1		No Bid	\$2.96	\$2.62	No Bid	\$2.09	No Bid
	Price Per Set Total Price	\$1.90 \$317.30	140 010	\$494.32		110 010	\$349.03	
	Brand	\$317.50 \$&\$		Discount School Supply			Hands on Fur	
	Model	AC747		FFS			57/2001	
13	280 Packs-Fluff Feathers							
i	Price per Pack	\$0.42	\$0.58	\$3.51		No Bid	No Bid	No Bid
	Total Price	\$117.60	\$162.40	\$982.80				
	Brand	S&S	Zucker Feather	Discount School Supply				
14	Model 54 Packs-Construction paper, 12*x18*, blue	BE1207	B706	NEON				
14	Price per Pack	\$1.14	\$1.06	\$1.57	No Bid	No Bid	No Bid	\$1.96
	Total Price	\$61.56	\$57.24			140 510	110 510	\$105.84
	Brand	Roselle	Riverside	R				Riverside
	Model	PE114BL	03624	12CPBL				03624
15	54 Packs-Construction paper, 12"x18", green							
	Price per Pack	\$1.14	\$1.06			No Bid	No Bid	
	Total Price Brand	\$61.56 Roselle						\$105.84 Riverside
	Model	PE114GF						03620
16	54 Packs-Construction paper, 12"x18", yellow							
1	Price per Pack	\$1.14	\$1.06	\$1.57	No Bid	No Bid	No Bio	
İ	Total Price	\$61.56	\$57.24	\$84.78				\$105.84
	Brand	Roselle						Riverside
	Model	PE114YE	03616	12CPYE		ļ		03616
17	154 Packs-Construction paper, 12*x18*, white Price per Pack	\$1.14	\$1.17	\$1.57	No Bio	No Bio	No Bio	\$1.96
	Total Price	\$175.56		\$241.78	1	140 5/6	140 5%	\$301.84
	Brand	Roselle		i ·				Riverside
	Model	PE114W1	03613	12CPWF	1			03613
18	54 Packs-Construction paper, 12*x18*, black							
	Price per Pack	\$1.14				No Bio	No Bio	
1	Total Price Brand	\$61.56 Roselle	21					\$105.84 Riverside
	Model	PE114BH		12CPBI		}		0363
19	54 Packs-Construction paper, 12"x18", orange							
	Price per Pack	\$1.14				No Bio	No Bio	
	Total Price	\$61.56	1	1	1			\$105.84
1	Brand Model	Roselle PE11400						Riverside 0361
20	54 Packs-Construction paper, 12*x18*, pink	F211400	1	12000	1			
20	Price per Pack	\$1,14	1.06	\$1.5	No Bio	No Bio	No Bio	\$1.96
	Total Price	\$61.56						\$105.84
ļ	Brand	Roselle						Riverside
L	Model	PE114PI	0361	12CPP	4			03708

Opened:	January 4, 2005	S & S Worldwide	Sax Arts & Crafts	Discount School Supplies	Nasco	Learning Zone	Oriental Trading Company, Inc.	Pyramid School Products
For.	Arts & Crafts Supplies	75 Mill St.	PO Box \$10710	2 Lower Ragsdale, Suite 125	901 Janesville Avenue PO Box 901	10531 Gulfdale	5455 S. 90th Street	6510 North 54th Street
A797-05	AW/arw	Colchester, CT 06415		Monterey, CA 93940	Fort Atkinson, WI 53538	San Antonio, TX 78216	Omaha, NE 68127	Tampa, FL 33610
Item	Description				,			
. 21	54 Packs-Construction paper, 12 x18, violet	1		ļ				İ
	Price per Pack	\$1.14	\$1.06		No Bid	No Bid	No Bid	\$1.96
1	Total Price	\$61.56	\$57.24 Riverside					\$105.84 Riverside
ŀ	Brand Model	Roselle PE114VI	03627	Discount School Supply 12CPVI				03627
22	54 Packs-Construction paper, 12"x18", brown	1		1 ,201 1.				00027
	Price per Pack	\$1.14	\$1.15	\$1.57	No Bid	No Bid	No Bid	\$1.96
l	Total Price	\$61.56	\$62.10					\$105.84
	Brand	Roselle	Riverside					Riverside
	Model	PE114BR	03629	12CPBR				03629
23	54 Packs-Construction paper, 12"x18", red							
	Price per Pack	\$1.19	\$1.28		No Bid	No Bid	No Bid	
i	Total Price	\$64.26	\$69.12	1				\$105.84
	Brand Model	Roselle PE114RE	Riverside 03614	Discount School Supply 12CPRE				Riverside 03614
24		1	03014	1201112				0014
24	116 Each-Non tarnishing glitter, 16oz., silver Price Each	\$3.19	\$3.91	No Bid	\$3.53	No Bid	No Bid	\$4.00
l	Total Price	\$370.04	\$453.56		\$409.48	NO DIG	NO BIG	\$464.00
	Brand	S&S	School Smart		Sulyn			Glitterex
]	Model	XM2835	0043636		0501178J			1GSR
25	116 Each-Non tamishing glitter, 16oz., blue							1
1	Price Each	\$3.19	\$3.91	No Bid		No Bid	No Bid	
	Total Price	\$370.04	\$453.56		\$409.48			\$464.00
1	Brand	S&S XM2830	School Smart 0043616		Sulyn 05011780			Glitterex 1GBL
26	Model 116 Each-Non tamishing glitter, 16oz., gold	XM2830	0043616	İ	05011780	Ì		1GBL
20	Price Each	\$3.19	\$3.91	No Bid	\$3.53	No Bid	No Bid	\$4.00
ĺ	Total Price	\$370.04	\$453.56		\$409.48	140 510	140 Bid	\$464.00
,	Brand	S&S	School Smart		Sulyn			Glitterex
	Model	XM2831	0043646		0501178F			1GGD
27	116 Each-Non tamishing glitter, 16 oz., green							
	Price Each	\$3.19	\$3.91	No Bid			No Bid	
	Total Price Brand	\$370.04 S&S	\$453.56 School Smart	l)	\$409.48			\$464.00 Glitterex
1	Model	XM28232	5cnool 5man 0043681		Sulyr 0501178K			16GN
28	116 Each-Non tarnishing glitter, 16 oz., red	1]					
	Price Each	\$3.19	\$3.91	No Bid	\$3.53	No Bid	No Bid	\$4.00
	Total Price	\$370.04	\$453.56	1	\$409.48			\$464.00
	Brand	S&S	School Smart		Sylyr	1		Glitterex
	Model	XM2834	0043606	1	05011788			16RD
29	1044 Packs-Construction paper, 9" x 12", black				1			
	Price per Pack Total Price	\$0.57 \$595.08	\$0.59 \$615.96			No Bid	No Bio	\$0.98 \$1,023.12
	Brand	\$395.00 Roselle	Riverside		4			Riverside
	Model	PE113BK	03607	9CPBK				03607
30	1044 Packs-Construction paper, 9" x 12", blue	<u> </u>	· · · · · · · · · · · · · · · · · · ·	1	[
	Price per Pack	\$0.57	\$0.55			No Bid	No Bio	
	Total Price	\$595.08	\$574.20			į		\$1,023.12
	Brand	Roselle	Riverside			1	1	Riverside
	Model	PE113BL	03600	9CPBL	<u> </u>	İ	1	03600

Opened:	January 4, 2005	S & S Worldwide	Sax Arts & Crafts	Discount School Supplies	Nasco	Learning Zone	Oriental Trading Company, Inc.	Pyramid School Products
For:	Arts & Crafts Supplies	75 Mill St.	PO Box 510710	2 Lower Ragsdale, Suite 125	901 Janesville Avenue PO Box 901	10531 Gulfdale	5455 S. 90th Street	6510 North 54th Street
A797-05	AW/arw	Colchester, CT 06415	New Berlin, WI 53151	Monterey, CA 93940	Fort Atkinson, WI 53538	San Antonio, TX 78216	Omaha, NE 68127	Tampa, FL 33610
Item	Description							
31	1044 Packs-Construction paper, 9" x 12", green	\$0.57	\$0.55	\$0.79	No Bio	No Bio	No Bid	
	Price per Pack Total Price	\$595.08	8					\$1,023.12
	Brand	Roselle			1			Riverside 03596
	Model	PE113GF	03596	9CPGF				03330
32	1044 Packs-Construction paper, 9" x 12", orange		20.00	\$0.79	No Bio	No Bio	No Bio	\$0.98
1	Price per Pack	\$0.57 \$595.08		1	1	140 81	1	\$1,023.12
	Total Price	Roselle	1	1				Riverside
1	Brand Model	PE11300	11					03594
33	1044 Packs-Construction paper, 9" x 12", red	<u> </u>					No Die	\$0.98
	Price per Pack	\$0.59				1 No Bi	No Bio	\$1,023.12
ļ	Total Price	\$615.96			1			Riverside
	Brand	Roselle PE113RE				ĺ		03590
34	Model 1044 Packs-Construction paper, 9" x 12", white	1211011	1]				
34	Price per Pack	\$0.5	\$0.60			d No Bi	d No Bio	
1	Total Price	\$595.00			1		1	\$1,023.12 Riverside
	Brand	Rosell PE113W						03589
	Model	PETISW	0336	90,741	1			
35	1044 Packs-Construction paper, 9" x 12", yellow	\$0.5	\$0.5	so.79	No Bi	d No Bi	d No Bio	
ļ	Price per Pack Total Price	\$595.0	li .	~ ·				\$1,023.12
1	Brand	Rosett	11					Riverside 0359
İ	Model	PE113Y	0359	2 9CPY				0000
36	1044 Packs-Construction paper, 9" x 12", pink				No Bi	d No B	d No Bi	\$0.98
l	Price per Pack	\$0.5 \$595.0					"	\$1,023.1
1	Total Price	Rosell	-11	-11	1			Riversid
1	Brand Model	PE113P						0359
37	1044 Packs-Construction paper, 9" x 12", violet	1	ļ			.]		\$0.9
]	Price per Pack	\$0.5	III	3		id No B	id No Bi	\$1,023.1
l	Total Price	\$595.0						Riversid
	Brand	Rosel PE113V					İ	0360
	Model Deleted	1		7]		
38 39	50 Packs-Construction paper, 9" x 12", assorted	1						
55	Price per Pack	\$0.5			1	id No B	id No B	id \$0.9 \$49.0
	Total Price	\$29.5						Riversid
	Brand	Rosei PE113M						0363
	Model 140 Buckets-Craft buttons, assorted	PETISM	₹ 0000	"				
40	1	\$1.4	sa \$1.3	<u></u>	20 \$1.	55 No E	Bid No B	id No B
	Price per Bucket Total Price	\$207.2		20 \$728.0	1			
	Brand	S8						
1	Model	BE98	03-209	ed BAGB1	N 97038	40	1	
41	Deleted				<u> </u>	_		_1

Opened:	January 4, 2005	S & S Worldwide	Sax Arts & Crafts	Discount School Supplies	Nasco	Learning Zone	Oriental Trading Company, Inc.	Pyramid School Products
For:	Arts & Crafts Supplies	75 Mill St.	PO Box 510710	2 Lower Ragsdale, Suite 125	901 Janesville Avenue PO Box 901	10531 Gulfdale	5455 S. 90th Street	6510 North 54th Street
A797-05	AW/arw	Colchester, CT 06415	New Berlin, WI 53151	Monterey, CA 93940	Fort Atkinson, WI 53538	San Antonio, TX 78216	Omaha, NE 68127	Tampa, FL 33610
Item	Description				İ			
42	140 Packs-Acrylic yarn, assorted							1
	Price per Pack Total Price Brand	\$10.80 \$2,008.80 Not Given		No Bio	No Bio	No Bio	f No Bio	No Bid
1	Model	YA1224	•					
43	assorted Price Per Set Total Price Brand	\$0.70 \$2,520.00 \$88S	\$5,220.00	X	No Bio	No Bio	No Bio	\$1.90 \$6,840.00 LiquidMark
ļ	Model	SC846						80000
44	120 Each-Guildcraft liquid tempra, 16 oz, black Price Each Total Price	\$0.82 \$98.40	\$145.20	\$139.20	\$146.40	×	No Bio	\$1.20 \$144.00
	Brand Model	S&S LT1011	Versatemp 2400		Nasco 97036270			Sargent 228485
45	120 Each-Guildcraft liquid tempra, 16 oz, red							
	Price Each	\$0.82					No Bio	
]	Total Price	\$98.40 \$&\$				i .		\$144.00 Sargent
ĺ	Model	LT1002						228420
46	120 Each-Guildcraft liquid tempra, 16 oz, yellow							<u> </u>
	Price Each	\$0.82	\$1.21			1	No Bio	
	Total Price Brand	\$98.40 S&S	11			i		\$144.00 Sarrant
1	Model	LT1004		STYE				Sargent 228402
47	120 Each-Guildcraft liquid tempra, 16 oz, blue							
	Price Each	\$0.82	1	1	1		No Bio	1
	Total Price	\$98.40	31	1	1			\$144.00
	Brand Model	\$&S LT1007						Sargent 228450
48	120 Each-Guildcraft liquid tempra, 16 oz, white	11100/	2401	316	37030275			220430
"	Price Each	\$0.82	\$1.21	\$1.16	\$1.22	No Bio	No Bio	\$1.20
	Total Price	\$98.40	1	1				\$144.00
	Brand	S&S LT1010	Versatemp 2410					Sargent 228496
49	Model Deleted	1100	2410	3100	9703027	1		220490
50	Deleted							
51	370 Packs-Tissue paper, assorted, 20" x 30"			ļ				
	Price per Pack	\$12.30					No Bio	
}	Total Price	\$4,551.00						\$10,360.00
	Brand Model	S&5 PE766						Spetra 1131564
52	25 Packs-Chalk, chunki, 8 colors		1					
	Price per Pack	\$.055*/\$1.10	\$1.00	\$3.56	No Bio	No Bio	\$2.57	No Bid
1	Total Price	\$55.00	\$25.00				\$64.25	; !
	Brand	S&S Not Giver					Hands on Fur 56/5505	
53	Model Deleted	Not Giver	1702		1		56/5505]
53	Deleted	<u> </u>	<u> </u>	<u> </u>	<u> </u>	L		<u> </u>

Opened:	January 4, 2005	S & S Worldwide	Sax Arts & Crafts	Discount School Supplies	Nasco	Learning Zone	Oriental Trading Company, Inc.	Pyramid School Products
For:	Arts & Crafts Supplies	75 Mill St.	PO Box 510710	2 Lower Ragsdale, Suite 125	901 Janesville Avenue PO Box 901	10531 Gulfdale	5455 S. 90th Street	6510 North 54th Street
A797-05	AW/arw	Colchester, CT 06415	New Berlin, WI 53151	Monterey, CA 93940	Fort Atkinson, WI 53538	San Antonio, TX 78216	Omaha, NE 68127	Tampa, FL 33610
Item	Description 1707 Sets-Watercolor paint set, 8 paints							
54	Price Per Set	\$0.72	\$1.25	\$0.68	***	\$0.59	*\$.42/\$2.52	1
1	Total Price	\$0.72 \$1,229.04			\$0.61			
1	Brand	\$1,229.04 Sargent			\$1,041.27 Sargen	\$1,007.13 Rines	\$716.94 Hands on Fur	
	Model	PT108X					56/1301	00800
55	250 Packs-Layout Pencil	111002	3042	1	8100231	NOT GIVE	30130	1
55	•	\$3.96*/\$0.33			1			
ł	Price per Pack Total Price	\$3.967\$0.33		11	\$3.12		No Bio	\$3.60 \$900.00
İ	I .	\$990.00 Ebony						\$900.00 Ebony
1	Brand Model	SC658					1	6325
	580 Reams-Drawing paper, 12" x 18"	30036	14420	FFINE	370103.	1		0323
56			00.04	1				
1	Price per Ream	\$10.50 \$6,090.00		\$12.42				
1	Total Price Brand	\$6,090.00 Pacor				\$6,206.00 Pacor		\$6,948.40 Riverside
!	Model	PE101E				4712		07166
57	27 Sets-Paint brushes	7 2.012	0317-	1230		4716		07100
3/	1				20.10	1		
-	Price Per Set	\$4.10			\$2.40			
Į.	Total Price	्र [ा] \$110.70	\$108.00	\$169.02		II .	\$143.91	
	Brand Model	S&S	Sax	Best Value	Nasco SB29650.		Hands on Fur	
1	Model	AB3720			3029030	1	56/260	
58	50 Packs-Wooden Styluses	7.55725	1.00.00.70	1 00000		4	30200.	1
1. 30	Price per Pack	*\$6.00/\$.72	\$0.35	No Bid	\$0.59	No Bio	No Bio	No Bid
i	Total Price	\$300.00			\$29.50		אם סא	No Bid
1	Brand	\$300.00 S&S			Nasco			
	Model	MT26		Ĭ	0900846			
59	10 Sets-Stick Cray-Pas Oil Pastels			4		1		
33	Price Per Set	\$35.85	\$27.17	No Bid	\$26.35	No Bio	No Bio	No Bid
1	Total Price	\$358.50 \$358.50			\$26.35 \$263.50		INO BIG	NO BIO
1	Brand	Crayola			Sakura			
	Model	SC995			9713652			1
60	30 Sets-Modeling clay, nontiring					4		
1 ~	Price Per Set	\$9.30	\$9.48*/\$0.79	No Bid	No Bio	No Bio	No Bio	No Bid
	Total Price	\$279.00			NO BIC	No Bit	, NO BIC	NO BIO
	Brand	\$8.5						
1	Model	CL12E				1		
61	345 Each-Hole punch, hand held		4					
1	Price Each	\$0.66	\$0.47	No Bid	\$0.36	No Bio	No Bio	\$0.50
	Total Price	\$227.70			\$124.20		140 Bit	\$172.50
	Brand	S&S			Nasco			Leonard
1	Model	AS210			9701185		1	90001
62	25 Each-Paste, gallon size		1	1	Lawrence -	4		
1	Price Each	\$6.50	\$6.14	\$6.29	No Bio	No Bio	No Bio	\$8.40
	Total Price	\$162.50				100	1	\$210.00
	Brand	Elmers						Elmers
	Model	GL1000				1	1	504

Opened:	January 4, 2005	S & S Worldwide	Sax Arts & Crafts	Discount School Supplies	Nasco	Learning Zone	Oriental Trading Company, Inc.	Pyramid School Products
For:	Arts & Crafts Supplies	75 Mill St.	PO Box 510710	2 Lower Ragsdale, Suite 125	901 Janesville Avenue PO Box 901	10531 Gulfdale	5455 S. 90th Street	6510 North 54th Street
A797-05	AW/arw	Colchester, CT 06415	New Berlin, WI 53151	Monterey, CA 93940	Fort Atkinson, WI 53538	San Antonio, TX 78216	Omaha, NE 68127	Tampa, FL 33610
Item 63	Description 160 Holls-Holl of paper, 12" x 200"							
	Price per Roll Total Price Brand Model	\$5.40 \$864.00 \$&S PE778		No Bid	No Bid	No Bio	No Bid	No Bid
64	391 Packs-Hot glue sticks, 5/16* Price per Pack Total Price Brand	\$1.00 \$391.00 Mini	\$2.23 \$871.93 FPC	\$488.75 Discount School Supply	No Bid	No Bio	No Bid	No Bid
65	Model 1000 Packs-Pipe cleaner, 1/4* thick, assorted colors Price per Pack	GL521 \$0.89			\$0.96			\$1.00
66	Total Price Brand Model 1000 Packs-Wiggle eyes	\$890.00 Not Given CC687		\$1,420.00 Discount School Supply TPIP	\$960.00 Stanislaus 0500592G	;[\$1,445.00 Hands on Fur 57/4001	\$1,000.00 Leonard 65600
	Price per Pack Total Price Brand Model	*\$0.80/\$4.00 \$800.00 \$&S TR217	\$850.00 Chenille Krall	\$1,790.00 Discount School Supply	\$1,72 \$1,720.00 Chenille 9714853		No Bid	\$1.60 \$1,600.00 Leonard 64530
67	40 Kits-Metal tile coaster packs Price per Kit Total Price Brand	\$59.90 \$2,396.00 S&S		No Bid	No Bid	No Bio	No Bid	No Bid
68	Model 140 Packs-Class collage pack Price per Pack Total Price Brand	\$22.50 \$3,150.00 \$88.5	No Bid	No Bid	\$35.89 \$5,024.60 Not Giver	\$4,410.00		No Bid
69	Model 280 Kits-Classroom stringables kit Price per Kit Total Price Brand Model	\$14.30 \$4,004.00 \$8.8S BE704	No Bid	No Bid	\$26.00 \$7,280.00 Nasco SB27842.	\$31.50	No Bio	No Bid
70	140 Kits-Activity Kit Price per Kit Total Price Brand Model	\$9.95 \$1,393.00 \$8.5 AP106	\$15.73 \$2,202.20 Royled	\$2,679.60 Discount School Supply	No Bio	4		No Bid
71	Model 140 Boxes-Big Box of Art Materials Price per Box Total Price Brand Model	\$30.50 \$4,270.00 \$&5 LR135	\$34.95 \$4,893.00 Roylot	\$43.89 \$6,144.60 Discount School Supply	\$35.24 \$4,933.60 Roylor	\$6,368.60 Royle) 3,	No Bid

Opened:	January 4, 2005	S & S Worldwide	Sax Arts & Crafts	Discount School Supplies	Nasco	Learning Zone	Oriental Trading Company, Inc.	Pyramid School Products
For:	Arts & Crafts Supplies	.75 Mill St.	PO Box 510710	2 Lower Ragsdale, Suite 125	901 Janesville Avenue PO Box 901	10531 Gulfdale	5455 S. 90th Street	6510 North 54th Street
A797-05	AW/arw	Colchester, CT 06415	New Berlin, WI 53151	Monterey, CA 93940	Fort Atkinson, WI 53538	San Antonio, TX 78216	Omaha, NE 68127	Tampa, FL 33610
Item	Description]	
72	140 Packs-Scratch-Art Sratchboards					Į		
	Price per Pack	\$2.99				\$4.89		No Bid
	Total Price	\$418.60			\$354.20			
1	Brand	S&S			Scratch Art			
	Model	PE794	SBB108		9716647	SBB108	1	
73	140 Packs-Paper Bag Puppets						1	
ŀ	Price per Pack	\$12.18	No Bid	No Bid	\$16.27	\$20.99		No Bid
İ	Total Price	\$1,705.20			\$2,277.80	\$2,938.60		
ŀ	Brand Model	\$&9 GP152			Roylco 9722327	Royloo R2025		
74	140 Kit-Activity Kit, Frame decorating	01 132	Į		3,2202,	1,2025	1	
/~	Price per Kit	*\$42.00/\$21.00	No Bid	\$26.88	No Bid	No Bio	No Bid	No Bid
F .	Total Price	\$5,880.00		\$3,763.20		110 5.0	1	110 510
	Brand	S&S		Discount School Supply				
	Model	AP123		FDK	1			
75	140 Kits-Activity Kit, Valentine's Activity				Ī]	
	Price per Kit	\$27.50	No Bid	No Bid	No Bid			No Bid
	Total Price	\$3,850.00				\$3,918.60		
1	Brand	S&S SL1529				Royled 9908		
	Model 20 Sets-Lace, plastic	321328			İ	3500	4	
76	1	16100 00/251 00	No Bid	*\$143.00/\$5.72	No Bid	No Bio	No Bio	No Bid
Ī	Price Per Set Total Price	*\$102.00/\$51.00 \$2,040:00	NO DIO	\$2,860.00		INO DIC	NO BIC	I INO DIU
1	Brand	\$8.5		Rexlace				
	Model	LA255E		RXRYGE				
77	Deleted		i i]				
		NAS						1
78	140 Packs-Craft Sticks		*\$6.50 / \$3.25	60.00	No Die	No Bio	No Bio	No Bid
	Price per Pack Total Price	\$1.30 \$182.00				INO BIC	INO BIC	ו וואס טומ
	Brand	Forste	Waddle We Doo					
	Model	CS425						
79	380 Packs-Paper Plates							
	Price per Pack	\$1.80	\$1.25	No Bio	\$1.83	No Bio	No Bio	No Bid
	Total Price	\$684.00			\$695.40			
	Brand	S&S			Not Giver			
	Model	PE1260	9100EG		9703842	4		
80	50 Boxes-Erasers, soft, pink, beveled							
	Price per Box	\$3.48*/\$6.96					No Bio	
1	Total Price	\$174.00			\$210.00			\$65.00
1	Brand	S&S			Pink Pear			Leonard
1	Model	SC743	70521	1	970103	1		71502
81	Deleted			1		1		
82	Deleted]	1		1		
83	200 Sets-Niji Caligraphy Marker		L	1				
ļ	Price per Set	No Bio			No Bio	No Bio	No Bio	No Bid
	Total Price		\$356.00					
	Brand		Y&C Stylis NSC603A			1		
L	Model	<u> </u>	NSC603/]	<u> </u>		<u> </u>	Ji

Opened:	January 4, 2005	S & S Worldwide	Sax Arts & Crafts	Discount School Supplies	Nasco	Learning Zone	Oriental Trading Company, Inc.	Pyramid School Products
For:	Arts & Crafts Supplies	75 Mill St.	PO Bax 510710	2 Lower Ragsdale, Suite 125	901 Janesville Avenue PO Box 901	10531 Gulfdale	5455 S. 90th Street	6510 North 54th Street
A797-05	AW/arw	Colchester, CT 06415	New Berlin, WI 53151	Monterey, CA 93940	Fort Atkinson, WI 53538	San Antonio, TX 78216	Omaha, NE 68127	Tampa, FL 33610
Item	Description							
84	10 Packs-Chenile Craft Stems, black		1			1		
	Price per Pack Total Price Brand Model	\$0.94 \$9.40 King TR30	\$4.80 Chenille Kraf	\$14.00 Discount School Supply		No Bid		\$1.20 \$12.00 Leonard 65420
85	10 Packs-Chenile Craft Stems, brown				No Bid	No Bid	No Bid	
	Price per Pack Total Price Brand Model	\$0.85 \$8.50 King TR98	\$4.80 Chenille Kraf	\$14.00 Discount School Supply				\$1.20 \$12.00 Leonard 65450
86	10 Packs-Chenile Craft Stems, dark blue Price per Pack Total Price Brand Model	No Bio	\$0.48 \$4.80 Chenille Kraf 7112-1	\$14.00 Discount School Supply		No Bid	No Bid	\$1.20 \$12.00 Leonard 65415
87	10 Packs-Chenile Craft Stems, green		7112-10]			337.3
	Price per Pack Total Price Brand Model	\$0.80 \$8.00 King TR32	\$4.80	\$14.00 Discount School Supply		No Bid	No Bio	\$1.20 \$12.00 Leonard 65425
88	10 Packs-Chenile Craft Stems, red Price per Pack Total Price Brand Model	\$0.89 \$8.90 King TR25	\$0.48 \$4.80	\$1.40 \$14.00 Discount School Supply	No Bid	No Bio	No Bio	
89	10 Packs-Chènile Craft Stems, yellow Price per Pack Total Price Brand Model	No Bic		\$1.40 \$14.00 Discount School Supply	No Bid	No Bio	No Bio	
90	4 Packs-Tissue Paper, apple green Price per Pack Total Price Brand Model	No Bio	N A S *\$4.32/\$2.16 \$8.64 Spectra Not Giver		No Bio	No Bic	No Bio	
91	4 Packs-Tissue Paper, holly green Price per Pack Total Price Brand Model	No Bio	NAS	No Bio	No Bio	No Bio	No Bio	
92	4 Packs-Tissue Paper, turquoise Price per Pack Total Price Brand Model	, No Bio	N A S *\$4.32/\$2.16 \$8.6 Spectr 005910	i a	No Bio	No Bio	No Bio	\$2.90 \$11.60 Spectra 59107

Opened:	January 4, 2005	S & S Worldwide	Sax Arts & Crafts	Discount School Supplies	Nasco	Learning Zone	Oriental Trading Company, Inc.	Pyramid School Products
For:	Arts & Crafts Supplies	75 Mill St.	PO Box 510710	r rought ingularity	901 Janesville Avenue PO Box 901	10531 Gulfdale	5455 S. 90th Street	6510 North 54th Street
A797-05	AW/arw	Colchester, CT 06415			Fort Atkinson, WI 53538		Omaha, NE 68127	Tampa, FL 33610
Item	Description							
93	4 Packs-Tissue Paper, navy]	NAS		No Bid	No Bid	No Bid	\$2.90
	Price per Pack	No Bio			No Bio	INO DIU	NO DIO	\$11.60
	Total Price		\$8.64				1	Spectra
	Brand		Spectra 0059347			1	<u> </u>	59407
	Model		NAS					·
94	4 Packs-Tissue Paper, light blue	No Bio		No Bid	No Bid	No Bid	No Bid	\$2.90
	Price per Pack Total Price	NO DIC	\$8.64	3				\$11.60
	Brand		Spectra		İ			Spectra
	Model		0059397					59397
95	4 Packs-Tissue Paper, parade blue		NAS					
	Price per Pack	No Bio			No Bio	No Bio	No Bio	\$2.90 \$11.60
	Total Price		\$8.64		*		i	
	Brand		Spectra			1		Spectra 59347
	Model		0059407					00011
96	10 Reams-Sulphite Drawing Paper	1		1	N- P'-	No Bio	No Bio	\$5.90
	Price per Ream	\$5.70			No Bio	No Bid	, NO DIC	\$59.00
1	Total Price	\$57.00					1	Riverside
	Brand	Paco	u					03165
	Model	1			Net 30	2%-10	Net 30	Net 30
	Terms	Net 30	· 				1	
Estimated A	Annual Award	\$33,193.8	\$11,201.20	\$8,767.90	\$8,769.98	\$5,420.72	\$710.3-	, J

^{*}Price has been adjusted for comparison purposes

Item 4-Oriental Trading did not bid on Scratch Sheets; S&S Worldwide did not bid on correct package size.

Item10-Specs for 60/pk. Vendor bid 8/pk.

Item 51-Specs for 48 sheets/pk. Vendor bid 100 sheets/pk.

Item 76-Specs for 100 spoots/set. Vendor bid 4 spools/set.

Item 78-S&S Worldwide bid incorrect size for craft sticks.

Items 90-95-Specs for 50 sheets/pk. Vendor bid 24 sheets/pk.

Opened:	February 8, 2005		MSWN	MLWN	MSWN	MSSN	FSWN	MLWN	FSWN Bid # A
For:	Plastic Bags		Central Poly Corp	All American Poly	Alternative Cleaning Technology	Boritex, Inc.	Coleman Enterprises	, ,	Interboro Packaging Corp.
A934b-0	5	TC		40 Turner Place	4734 Broom St	PO Box 171088	PO Box 460032	112 Helton Dr.	114 Bracken Road
Item	Description	Est. Annual Qty		Piscataway, NJ 08854	San Antonio, TX 78217	Arlington, TX 76003	San Antonio, TX 78246		Montgomery, NY 12549
1	Bag, Plastic, 2 Mil, LLD, 38" X 58" or 38" X 60", Flat/Gusseted	2500							
	Price Per Case Price Total Number Per Case Brand Name Number		\$19.20 \$48,000.00 100 Central Poly CP3860	\$50,650.00 100 All American Poly	\$87,175.00 100 Fortune Plastics		No Bid	No Bid	\$23.8 \$59,600.0 10 IN INT-3858-Super Ex-Hv
	Terms		1% - 10	1/10% - 30	Net 30	Net 30	Net 30	Net 30	Net 3
	Estimated Total Award		\$48,000.00						

^{*}Totals have been adjusted to reflect variances in packaging.

NAS:

Interboro (Bid # D) Item 1 Non-Recycled & Recycled - did not meet minimum density requirement.

TERMS: Upon Award - September 30, 2005 with one (1) extension - Expires 2006 CONTRACT AMOUNT: \$48,000.00 for one year; \$96,000.00 for two years. END USER: Primarily Bldg Maintenance, Aviation, and Library. SCOPE: Contract will provide the City facilities with plastic bag products.

Total Increase from previous contract - \$5,625.00; increase due to instability within the oil industry.

NAS

Interboro (Bid # D) Item 1 Non-Recycled & Recycled - did not meet minimum density requirement.

TERMS: Upon Award - September 30, 2005 with one (1) extension - Expires 2006 CONTRACT AMOUNT: \$48,000.00 for one year; \$96,000.00 for two years. END USER: Primarily Bldg Maintenance, Aviation, and Library. SCOPE: Contract will provide the City facilities with plastic bag products.

ω

^{*}Totals have been adjusted to reflect variances in packaging.

Total Increase from previous contract - \$5,625.00; increase due to instability within the oil industry.